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Points to Ponder
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The NNA says that a NpP'P is D0ID because of a N1'1A that people may permit a
N¥19N to marry one of the brothers. Why aren’t we concerned about her going out and
marrying again, thinking that this N¥'2n was valid and released her from the np'1?

If a lady did the spitting before the N¥'2N we don't have her do it again because we
are concerned that people will assume that the first spitting was invalid and will let a
lady who only spit marry one of the brothers. Since she is only [2217n 9109 if she only
did Nnp'pY why are we making a N1'1a2 N1'TA?

The NNA says that "N lived 20 years longer than N2 because he did NI2'NAI NN

D'TON. Does this mean that N2 didn't do TON?

Since the N1NA says that a |'T 112 that was accompanied by a NVI2W can’t be reversed
how does learning N1IN help? What happened with the nyI2w?



5. The N1NA says that a N10P is able to do N¥'>N. Why aren’t we concerned that she may
turn out to be an N"19'N and is not able to be Y2IN?

6. The NNA says that |T2X developed NYIX and lost 2 sons, etc. "W writes that he was
punished with NVI¥ because of V1N |IW9. Why did he also lose his 2 sons?

If you have any comments or suggestions please email me at
Ygrunhaus@gmail.com
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